n= P = 73600

A=2.13

cw = 0.29
p=1.2
k=Axcwxp /2
m = 1440

B = NDSolve[{s''[t] == (P-k=*xs'[t]”*3)/ (mxs'[t]), s[0O] ==0, s'[O] == ©0.0005},
s, {t, 200}, WorkingPrecision - 30]
Plot[Evaluate[s'[t] /. B] »3.6, {t, ©, 200}, PlotRange -» All]

out1]= 73 600
ouzl= 2.13
outjzl= 0.29
outg= 1.2
outjsl= 0.37062
outel= 1440

++«. NDSolve: The precision of the differential equation

73600 - 0.37062 <151« 155]
({{s”[t] == ,s[0]==0, s'[0] == 0.000S}, 8,00 {}}) is less than WorkingPrecision (30.").
1440 s'[t]

. . Domain: {{0, 200.000000000000000000000000000
out[7]= Hs - InterpolatlngFunctlon{ N omain: { i H}

Output: scalar

out[s]=
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